I came across an interesting hand the other day. How would you have fared? Sitting South, holding 
(A742  ( Q8 ( K75 ( A732, my partner opened the auction:

West
North
East
South


1(
Pass
1(
Pass
2(
Pass
3NT

All Pass

If you think 3NT is a poor bid, you won’t get much argument from me. Unfortunately, bidding 3C would have strongly implied an unbalanced hand with 5 spades. I decided to chance that my partner held at least Jxx in hearts, or that the opponents wouldn’t lead them – which never seems to work by the way. West led the (4.

Luck was with me this day, as North tabled:

( K




( AJ92 

( AJ9832

( T6

( A742

( Q8

( K75

( A732

Take a moment and decide how you would play this hand. There will be quiz later.

I played low from dummy, capturing East’s (10 with the (Q. A successful finesse of the (9 came next. I unblocked the (K from dummy, and played a diamond to my (K. When I played a second diamond toward dummy, the (Q appeared. I won, cashed dummy’s diamonds and the (A. When the (K hadn’t appeared, I crossed back to the (A, cashed the (A, and claimed 12 tricks.  Here comes the quiz.

What did you play at trick one? Did you pass the quiz?

Well, if you didn’t first question whether the scoring was Matchpoints or IMPs, you failed. Turns out it was Matchpoints, where greed is usually rewarded. Suppose however, that the scoring was IMPs. Your teammates are at the other table are expecting you to protect them. Take another moment and think about it. Do you play the hand any differently?

That question is a lot easier. If you took my line of play at Matchpoints, you made a reasonable effort to get you and your partner a decent score. If you took the same line of play in a team game, you should be lined up against the wall and shot. There are a certain 9 tricks for the taking, and to jeopardize your game for a few overtricks is borderline criminal.

Correct play is to rise with the (A and lead a diamond from dummy, covering East’s card as cheaply as possible! This play will insure 9 tricks against any defense, guaranteeing 5 diamond tricks, 2 spades, and 2 other aces. Assuming your diamond play loses, no return by West can hurt you, or prevent you from untangling your winners.

You might be wondering what made me think of this play. Well, I fibbed a wee bit when I told you how the hand went earlier. East actually won the (K and switched to a club, which I was forced to duck. I ducked the club continuation as well. I won the third club, and hoped that something good would happen with the diamond suit. Alas, it was (QTx offside, and I lost a heart, 3 clubs, and a diamond. I wasn't ashamed of my line of play, (overtricks at Matchpoints are valuable), but I wondered if I would have made the hand had I been playing IMPs. I'm fairly convinced I would have passed that test. Would you?

The actual hand:



( K






( AJ92 



( AJ9832



( T6

( JT65



( Q983

( T7643


( K5

( 6



( QT4

( J94



( KQ85



( A742



( Q8



( K75



( A732

